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Mr. Moran 
Calculate the following

Minimum wage = $8.50 per hour    (MICHIGAN JANUARY 1, 2016)
Multiply that by 35 hours per week

Multiply that by 50 weeks per year (we will give you two weeks for vacation)

Multiply that by 2    (this is because you have two wage earners in your household)

Write that number down so that you do not forget it!!!

Then Go to this website

http://www.mlpp.org/resources/making-ends-meet-in-michigan
On the left side go to where it says online calculator and click on it 

Select your family size

Select Eaton County 

Click calculate

Write that number down compare it to your number from above

How does this relate to our learning target?


What is economics and how does it affect people?

How does this relate to our discussion about education and earnings that we had last week?

What have you learned from this? 

BE PREPARED TO SHARE YOUR THOUGHTS WITH THE CLASS!!!!!

